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BLM 8-2 Section 8.1 Extra Practice
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- 1
2-8)logs 243=2 b) lug”d—z 7. a) domain: {x| x>0, x € B}; range: { v |y & B};

- : x-ititercept: (1, 0); y-intercept: none; vertical
- asymptote atx =0

3.a)4=64 b) 4° =8 b) domain: {x |x>0,x = R};range: { ¥ |y = B};
x-intercept: (1, 0); y-intercept: none; vertical
4.2)16 h) % 93 48 asymptote at x =0

6. éj _:I.'-; log,x

- 10.}=6

A
5. a) equation of asymptote: x = 0;
4 y=iog, x domain: {x|x}0,xER};mge:1{y|yER};
24 3 y-intercept: none; x-intercept: {_F .0y
23
" \\ - b) eguation, of asymptote: x = 4;
0 i 6 & x domain: {x |x>4,x = R}:range: {v|v=R}:
=3 - V-imtercept none; x-intercept: (4.3, 0)
i ¢) equation of asymptote: x = —2;

domain: {x |[x> -2, x € R};range: {¥ |y € R}:
v-intercept: (0, —2.4); x-intercept: (—1.4. 0)
©) domain: {x|x>0.x = R};range: {y |y = R} d) equation of asymptote: x = 10,
x-intercept: (1, 0); y-intercept: none domain: {x |x> 10, x € R}; range:{ v |y = R};
d) vertical asymptote at x =0 y-intercept: none; x-intercept: (12, 0)
10
6. a) _}'=10%L%xj ory=logix—1 b)y=-Flogmx

) y=1logs (-2x) d)y=-4logsx
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